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Question Number : 1 Question Id : 4928632561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

X

If £ :[0.00) —=[0.20) is defined by f(x)= e then £is
+X

f1[0,00) [0,00)  f(x)= 0D, Bk f
+x
Options :
neither one-one not onto
38l 57, dofidsn &
one-one but not onto

3880, @08 JoRsn 52

onto but not one-one

DoRH0, o8 ©J(EIN 5

both one-one and onto

. ©J0880 ook SoigHn
R &

Question Number : 2 Question Id : 4928632562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

The range of the function f(x)= x> —6x-5 is

Options :

f(x)=—J—x?—6x—5 @oohsn Bwg g
o =%

3 ® '(_m__g]
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Question Number : 3 Question Id : 4928632563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cﬂrrgct: 1 Wrong: ( ‘
E 3 1 ¥ ,
| P, e and [ = .thenforall ne N
0 1 0 1

111, [t o0

208050 I = DO, @IPE o) ne N oo

B .l 0 1
Optiﬂn.s $

A" =nd+(n-1)1
3 ® A" z(n—l);’:{—ﬁ'!

i ;‘4” =nd—-(n-1)I

Question Number : 4 Question Id : 4928632564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

4 3 % -4
Therankofthematrix |2 3 0 —1/15
|1 ~& 3 -8
3 % 4 -
@8 (2 3 0 -1| S, FE
|4 <& F =8
Options :
1 = 1
2&?2
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Question Number : 5 Question Id : 4928632565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

Let 4, B, C be 3 » 3 non-singular matrices and 7 be the identity matrix of order three. If
ABA=BA’Band A*=1.then4AB*-B*4=

A B, Cen 3 %3 >prdem Sr@fe 0030 1 Jordsd S0ir 880 @8 ohFod.
ABA =BA* B %0050 4° =Jewond, edyd AB*—B*A=

Question Number : 6 Question Id : 4928632566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If the system of equations
x3y4+20=3
x+2 zy +3z=4
x+cj'+2c_=__
1S inconsistent. then

x+y+2z=3
XE2y+ 32—
x+ey+202=3

-

o Pidore ;’35 So880 ®ond. Eéﬁcﬁo

E‘ie.r

Options :
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Question Number : 7 Question Id : 4928632567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

- . o it . .
If - = x+iv 1s a complex number satisfying =2 and the locus of z 1s a circle then
Pidg g L
its radius 1s
g £ - Zi
z=x+iy @3 o8 $058 dopg =250 SDEN0H $HBA%0 = RE), NDoBBH[N
‘ “‘ z+2i o & ¥

& N0 2900 26 Y50 2% 23 oS
28 o Lond, i TI TgIYIw

Options :

5
=
3

Question Number : 8§ Question Id : 4928632568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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. : |
.\ . ax — by
If (x—iv)3 =a+ib.then 2 =
a—>b
- ax—by
(x—iv)3 =a+ib o8, odyds ———=
a—>b
Options :
1 ® ff3 —b3

' ) 2
. ¢ a +a’b+ab” +b’

i o2 - 7.2
%« a +3a’b+3ab>+b’°

w

4 14
4 # (1'4—b

Question Number : 9 Question Id : 4928632569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If -=x + iy is a complex number and [1 +iz| = |1 —iz|, then

z=x+iyaf $obg Sopg Ss00sw |l +iz|=[l-iz| wond,
Options :

, = Re(z)>0

> ® |:|:1

s I=Z

4 ¥ 2 =2

Question Number : 10 Question Id : 4928632570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The sum of the least positive arguments of the distinct cube roots of the complex number
(l-f\@ ) 1S
(1*f\/§) DR E&uégéﬁuaag Bg), IPS) Dddrore Y G scirdro Invgo

Options :

5
1 ® 3

172
> &R 3

237

B.ﬁ 3

1z
49 3

Question Number : 11 Question Id : 4928632571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
x+3

(x—1)(x+2)

ax+ v +1=0on the coordinate axis is

Let [[{Q(a. /) be the range of . Then the sum of the intercepts of the line

(x—1)(x+2)

IR—-(Q‘,B) o0 GTo08), TgR, WNS0d. BIVE ACrIsTEI0OR

ax+ By+1=0 3588 D) wodd podlne Iogsw

Options :
g 8

> ¢ 10

3rﬂ8
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Question Number : 12 Question Id : 4928632572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

b
ks
g

2
¥
o |
=
s S
Il

If o, B are the roots of the equation x> +5x+2=0 then (m)

b
~ o i ﬁ
2 Y — () AE : £ Ak enths — | +]| ——| =
o Beo x“+5x+2=0 JB88=0 B8, WO, © Jd‘fb [2_[_5&} [2-!—5{?}

Question Number : 13 Question Id : 4928632573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the roots of x* —10x> +37x> —60x+36=0 are . &. . B (a < B). then

20+38-2008=

rx4~—10x3+37x2 —60x+36=0 dE800 B, Soreren a. a. B. B la<f) woxnsd,

sy 20+38-20f =

Options :

1 v 1
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Question Number : 14 Question Id : 4928632574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The polynomial equation of degree 5 whose roots are the translates of the roots of

x’ =2x*+3x° —-4x* +5x—6=0 by-2is

2 =2x* 43 42 +5x—6=0 3WECwo SrosnoH — 2 & Sy Todosm
é@éé&dﬂ)g Dendedy Sorednen KO85 535 S858 IT0H8 dEd0

Option_s:
5 4, 473 2 -
. X —8x +27x +46x  +41x+12=0

o o X +8x +27x° +46x7 +41x+12=0

_ x ¥ +6x" +28x° +46x" +41x+12=0

4 % O +8x* 428 +46x% +41x+12=0

Question Number : 15 Question Id : 4928632575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of natural numbers less than 1000 in which no digit 1s repeated 1s

—
-
(-
==
8
O

4N
(3

E).5m &od, d5 Sopgod” o) 08 RITH)Bo 57 Jopge Jopg
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Question Number : 16 Question Id : 4928632576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

; : . | ~2x :
The coefficient of x* in the expansion of 1S
(2x+1)(2—x)

GBoo¥), DJTeS® X3 B Hgo

Option_s:
509
1 ® 80
o 8 80
103
3¢ 16
o 16

Question Number : 17 Question Id : 4928632577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

If the coefficient of #&, (- + 1)® and (+ + 2)® terms in the expansion of (1 + x)® are
respectively in the ratio 2 : 4 : 5. then (7. n) =

(1 +x)"RBwg), Q3G r. (r+ 1) SBako (1 +2) S Joro Hesren S 2:4:5
AQNES* ¢oB, edydo (1.n) =

Options :

o U0 1)

> of (3~ 8)
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4% 4,.9)

Question Number : 18 Question Id : 4928632578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If » 1s a positive integer greater than 1 then.

3("Co)—8("Cy)+13("C, ) —18("Cy ) +... upto (n+1) terms =

Options :
1. ® —5

2ﬂ'+1 _1

> % N

Question Number : 19 Question Id : 4928632579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

3x—2 A B €
If M,_, = - =+ .then4+B+C=
(x+17(x+3) x+1 (x+1] x+3
3x-2 A B 3
= ek ~+—— ©ond, ey 4+B+C=

Options :
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1. ®
S
9
= o
5
s v 2
11
% 4

Question Number : 20 Question Id : 4928632580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If sin@+sin @ =1 and cos*> @+ acos’ @ +bcos® @+ ccos®@+d =0 then

. w . _
sin@+sin“@=1 %8050 cos2@+acos®@+bcos®@+ccos®O+d=0 sond. D9k

Options :
» % ac=bd

s % ab+cd=0

4 ¢ ac+bd=0

Question Number : 21 Question Id : 4928632581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
c0520°¢c0s40°¢c0s60°¢cos80° =

Options :

H
&
oo | W

no
®
OO |
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Question Number : 22 Question Id : 4928632582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

/4 | 4
If A+ B+C=—,then 4(.‘05-1(?05-3;(.‘05*(; = COSf- -
4 ¥ . P 8

T ; A B & T
A+B+C=— a8, o5%% 4c0S—C0S—C0S— —COS— =
4 B . g, 7 g

Options :

4.&"‘

Question Number : 23 Question Id : 4928632583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Let A={xe. [R/|\/§cosx—sinx‘ >20<x< er} ! If'nr1 € A.x,€ A then M
X5

A ={xe. [R/‘\Ecos X —sin x| 22,0sxs 2;[} 00808, x€ 4.x,€ A wons,

X
oy L=
%

—

Options :

5

1.ﬂ2

('Y

u
> R 17

Question Number : 24 Question Id : 4928632584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
= : 3 e 4x . .
All the values of x satisfying the equation 2Tan' 2x = Sin l[ﬁ) lie in the mnterval
+4x°

2Tan‘12x=51n‘1(14+) 3DEGTR) EWMSET ©) x Do), Devden God wosSo
+4X"

Optiun§:

Lkl & 2

> R [_1‘l]
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Question Number : 25 Question Id : 4928632585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

l.j §
sinh™ 2+cosh™ 2—tanh™ = +coth™ (-2) =
J

4+2ﬁ+2_\/§+\/—1?

Options :

log

Question Number : 26 Question Id : 4928632586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

: : : = d
The greatest angle of the triangle whose sides are x* + x+1. 2x+1 and x~ -1 is

X2 +x+1 2x+1 508050 x°—1 0 hHareor KOAS @bzo B K8 Smo

Options :

, % 15°
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- x 105°

s 1207

Question Number : 27 Question Id : 4928632587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ina A4BC .ifa:b:c=4:5: 6. then the ratio of the radius of its circumcircle to that of
its incircle

2§ AABCS a:b:c=4:5 6008 od 50550 o), Tsdrgsnsdd, sy
HESH BoE), TgFYINIH Ko IS

Options :
; b A0 5V
> % 12:7
5% 15:8
4% 16:9

Question Number : 28 Question Id : 4928632588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Ina A 4BC . the mid point of BC is D. If AD is perpendicular to AC. then cos 4 cos C=

28 AABCS* BC &), $08g Doty D. ACS AD vomor ¢oB, edyd cosA cos C=
Options :

1 & aa?
1 ® 3 (.'b

2 2

r2(c‘+a')

5 % ab
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0 3ac
. 2
J((? +b )
4 ® Eb(‘

Question Number : 29 Question Id : 4928632589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The position vectors of three points 4, B and C are (1. 3. x). (3. 5. 8) and (y. —1. —6)
respectively. If 4, B and C are collinear. then (x. y) =

Sordo DothPen 4, B, Co assades $&dm (1.3, %), (3. 5. 8) Sobasn (. -1, —6).

A B 58050 Cen $ddHosroond, eodvd (x. )=
oJ -

Options :

ol

| o
I
1)
o

59
2. % 3
()
T.—J
gt '\ =
%
- i
4 * 3

Question Number : 30 Question Id : 4928632590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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A line L passes through the points T+ 27+k and —27 + 3k . A plane P passes through the

origin and the points 4% .27 + j . The point where the line L meets the plane P is

Led o3, 7427 +k 00050 —27 +3k DodoPeo fHoa F&0b. o dewo Plre

DoY) 508050 NodoYen 4k.27T + jo Hom FS%0d. 3p L, dwo P §00 Do

Options :
L =43k
, ¢ —8i —4j+Tk

iy 8T +47+k

L'y

ou HETH2E

Question Number : 31 Question Id : 4928632591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If P O, R are the mid points of the sides 4B, BC and CA4 of A ABC respectively. then
PC-BO-=

AABC &° ghudnen AB, BC $805» C4 o $o8g DodoHen $&dm P O, R wons,
@éﬁcﬁa PC-BQO=

v, AR

Question Number : 32 Question Id : 4928632592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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India’s largest Student Review Platform

Correct: 1 Wrong : 0



Let =7 +7.b=7+k and e¢=7 +k . If 4 is a unit vector such that 7-d =0 and

15-(F><r7)=0.t11en-(7 =

IH=T+}.B=]_'+E 200050 =7 +k ©508%8. a-d=0 5605 E-(Fxﬁ"):o

eddgttnod o8 oS 8% d wond, edvdk d =

Options :
Y e b
= e 2 (¢ 4 S
1. % 2( )
B s o
t—=(i -J)
2. \5
SR I, Lo
- B A

Question Number : 33 Question Id : 4928632593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Ifa=7+ 7 and b =37 —27 . then the vector 7 satisfying the equations 7 x@ =b xa and

Fxb=axbh is
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Question Number : 34 Question Id : 4928632594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The shortest distance between the lines 7 = (3t—4)i —2tj —(1+2t)k and

LF:(6+s)?+(2—23)7+2(1+3)i? 1S

‘F=(3r—4)?—2r]_'—(1+2r)1? B850 'F=(6+5)T+(2—25)f+2(1+s)l? Spo Sods

e é@‘{; Srdo
Options :

-~
1 ® )

25‘36
3¢ 9

4 ® 12

Question Number : 35 Question Id : 4928632595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Let 6, 0, be the standard deviations of two distributions D, and D, respectively and D, be
more consistent than D,. If the means of D, and D, are same. then the percentage increase
in the standard deviation of D, over the standard deviation of D, 1s

D, 58050 D, o3 3ok Jyrasive Ehateoddoe &I 6, 6,e, D, 808
D, Q80,8 Sox8500 oos’od. D, Hoddiw D, SHfgdren $drdo wond, D, BwE), 1§
D¥eso 808 D, Bwg), Ehddoso Bws), shEgd T80

Options :
917% 4100
1 % 62
O,—0
L_"2x100
> ® o
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Question Number : 36 Question Id : 4928632596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Consider the following distribution

- 4 6 8 10

. 2 3 2 1

The sum of the mean deviation from the mean and the mean deviation from the median of
this distribution 1s

& §ob Darasind &58%0s.
% 3 4 & & W
#: + 2 3 4 2

& DPRI0 GVOE), NP0 WG NG AWOI0 DOBN DEGHS0 Dok PG
QUWOITO INBO

Options :

1. % 6

16

9

23&

)
&
h
o

(WS )
‘*’-"|u

4. ¢

Question Number : 37 Question Id : 4928632597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Ten persons with badges numbered 1 to 10 are in a room. If three of them are asked to leave
the room. Then the probability to have the person with the smallest badge number as
5 among the three persons that left the room. 1s

15008 10 568 e@o8en 00 Bgos® 10 Hood Sgien ol KES" T, T0S° Joord
SgRed & KO 6O IPIH0YB, wir KO IEO IS Igies® 3L B ©o8dH 5w
KORS $58 oo doardss

Options :
i
|

, = 10

Question Number : 38 Question Id : 4928632598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Abag P contains 3 blue and 5 red balls. Another bag Q contains 4 blue and 6 red balls. A ball
1s drawn at random from one of the bags and is found to be red. The probability that it 1s
from bag Q 1s

g

o3 w8 20DS* 3 Qoo BN 5 P woden Gaon. Qe K& $odS' 4 Jeo
200 6 B woded wIoN. & LoWOT" LTV od cirENEoT & 208
BRVIIYE ©h P o8I HYoTH. & wod JHod Q ok SJSEF KL Jogrdgd
Options :

24
1. ¢ E
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42
. 49

Question Number : 39 Question Id : 4928632599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the items from List-I that of List-1I :
A bag contains 4 red. 3 white and 5 blue balls. Three balls are drawn at a time randomly

from the bag.
List-I List-II
3
(a) Probability of getting 1 red. 1 white and 1 blue ball (1) 2
" - - -
(b) Probability of getting 2 white and 1 blue ball i) &
" . . 38
(c) Probability of getting 2 red and 1 white ball (111) v
. e B
(d) Probability that none of the balls 1s white (iv) i
]
™ 110

-] S°Q oFdved THe-Il S0 TES® 28IEH0E.
w8 $oDS' 4 B, 3 BY Sodoin 5 Yo woden GO, & Hod Dol drdyYFor
3 2008 B0 S K.

erar-1 der-11
. B
(@) 28 AP, o8 ISRy 28 Qoo 208 >od ‘éoa}*éﬁgé (1) H
w3l
(b) Bodk B Hbosw wl Jwo wosendy Fod Logrdgd (i) =
s AR
() Bod YD Hobosn =8 Bed wohedd Fod Jogrsgd (111) 55
. ' . 3
(d) Q 208 8uAb 57 Jogrdgd (iv) =
o
LT
The correct answer 1s

00 Lo 27N

Options :

(@ () (c) (d
% (v) (1) () ()
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(@ () () (@
> (@) (1) () (1)

@ () (c) (d
s = (V) (1) (v) (m)

(@) (b) (¢) (d)
s x (V) () av) ()

Question Number : 40 Question Id : 4928632600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In a game of throwing 3 coins. a player will loose Rs. 5/- for each head and gain Rs.10/- for
each tail. If a random variable X : § — R is defined as X'(a) = net gain ‘(a e S). then the
mean of the random variable 1s (in rupees)

3 B0l JHETD o sLS® ol sbmd 85 K8 TP &r. 5 FSHed S0k
AR D8 T8 S 10 ergfo rodoardo. of O‘.’H"Cﬁaa&g ool X:S—> R J,
X (a) =88 erglo, (a€S) ™ QAR & SN WoTd B, SoggHo (Srnes®)
Options :

15
1. ¢ ?

Question Number : 41 Question Id : 4928632601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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A person fails 4 times in a game when he plays 9 times. If he plays 15 times. the probability
of having success at most once 1s

8 s 9 e?.nci_g @&é:}j& 2.8 265_?5 TP 66‘659_ LAY . @iy 15 %N:SQ &9&365:36&3.
0¢85 ¢80 ﬁ&@oﬁ“ &0 RO éu@é’)ge‘.‘é

Options :

9

~1
\O
m—— .

Question Number : 42 Question Id : 4928632602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

If 4=(-1.2) and B =(1.—2) are two points and P is a variable point such that the area of
'APAB is always one, then the equation of the locus of P is

A=(-12)%00s0 B=(1-2) Both Dothhen 508csw APAB Frogo dbydr &S
@@ogltnod of Sodokn) Peond, PBwE) DHokde DAoEG0

Options :

i 4x° +4xy+y* =1

x* +10xy+25y° —34x-170y =0

2_ﬁ

2 -
. u X —6xy +9_’I-’2 +22x—-66y—23=0
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o 167 24y 4957 —62v+34y +46 =0

Question Number : 43 Question Id : 4928632603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

The point (4. 1) undergoes the following transformations successively :
I  Reflection about the line y =x
II. Translation through a distance 2 units in the direction of positive X-axis

III. Rotation through an angle 1 about origin in the anticlockwise direction

Then the final position of the point 1s

28 Do (4, 1) & 08 SrFroddinety SEImT STHHS0d
L y=x0p &g Sodgdo

L 5 X-wfo Bng, 8IS* 2aHrde &rbo S5ros8 HOSES
Il oB&8n 83S" Sorodolnd Syrs % §'2008° (P00

VIV & DoMY BNE), S8 FIW

(&%
(VE.73)

2.ﬂ

- (_\E?\E)

3.

- v2 V2
Question Number : 44 Question Id : 4928632604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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The image of the point (2. 4) with respect to the straight line 2x+3y-6=0 is

2x+3y—-6=073p &35, (2. 4) DokH BooE), HENoC

Options :

(_14 : 8)
an, 28 1

s
(1' )
L3

Question Number : 45 Question Id : 4928632605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The equation of the base of an equilateral triangle is 12x + 5y — 65 = 0. If one of its vertices
1s (2. 3). then the length of the side 1s

o8 SPerSo@ehao BwE) BT EsN DY), SWESHo 12x+5y—-65=0. 0 Bw§, ¥
280 (2. 3) sowd, T Huo PEY
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Question Number : 46 Question Id : 4928632606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁ

-

A triangle is formed by Y-axis. the straight line L passing through the points (3.0). [14)

and the straight line perpendicular to the line L and passing through the point (8 1). Then
the area of that triangle (in square units) 1s

Yeesg500, (3.0).[1.@) DothbYo Hom Feh $6¢dp L S5odasn (8.1) Dok Hoa
J

F&r L8 womomr o8 $6¢0pof, wl Bebzo 6 WE08. © BehaiTego (S8
O LES”)

Options :

1. ® 16

Question Number : 47 Question Id : 4928632607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For ¢#0. c#1 if the straight lines x+ y =1. 2x— y =¢ and bx + 2by = ¢ have one common
point. then

c#0,c#18, x+y=12x—y=c $8050 bx+2by=c 35¢8pen o 508 DoH
50n 08, edyd

Options :

c-~::1:>be(—3.

4 | W

1. ¢
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Question Number : 48 Question Id : 4928632608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the lines represented by x* —2hxy— y*> =0 are rotated about (0. 0) through an angle

o one 1 clockwise direction and the other in the counter clockwise direction. then the
combined equation of the bisectors of the angle between the lines thus obtained 1s

rxz—.?.h.tjl-*—jl-'z =08 3rD0daB TpoS® wf TAV (DSB8 HIS'K, DEETIV Vs
SIS (0. 0) Syrg 0 =008 (Fowo Boboddo woor 2353&(‘6 DO oGy e
SESIAE ST Spo D), &0 D S0
Opti{mls:

.

8 XY +hxy =0

' b
¥ 2hw+1v2 =0
> % i

g0 ;
- hx™ —hy™+2xy=0

: 2
i hx® +hy* —xy =0

Question Number : 49 Question Id : 4928632609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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The normal to a circle § =0 atP (1.3)is x+ 2y =7 and it has another normal at Q (3. 5)

which 1s the polar of the point A(?. —%) with respect to the circle
x* 4+ 9% —4x+6y—12=0. Then the equation of the circle § =0 is
x+2y=7 386 S=0 5ye8 P (1, 3) 38 edeoozdyp. Q (3. 5) 3§ &8 Ho &8

ePooedy, x°+y* —4x+6y—12=0 NEo Byrg Do A[ o

wond, edyk o S=0 Bwg, DS

Options :

2% +y7 —10x—2y+6=0
1¢ .\ _1 x -J' SR

‘ 2 2

X +y =5x-2y4+1=0
> % * -

Y +17—8y+2v-8=0
3 % : ‘

. 2

x“+y =Tx+3y-12=0
4 % . .

Question Number : 50 Question Id : 4928632610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If x+ky—4=0 and x+y-5=0 are conjugate lines with respect to the circle

(x=1)"+(y-1)" =3. thenk=

(x=1)+(y-1)’

3 o3 Sygo Syxs x+hky—4=0 508055 x+y-5=0 e
SocsnfOpen wond, k

Options :
v
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Question Number : 51 Question Id : 4928632611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : (

The length of the chord intercepted by the circle 2 + ‘1-3 +2x+4y—-20=0 on the line

3x+4y—6=0 is

3x+4y-6=03p D x +)7+2x+4y-20=0 o3 5508 wodspodssodhdy =g

Option_s:
L N3
2.2
> %
§- 21
3. S

Question Number : 52 Question Id : 4928632612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Let Q be a point on the circle B:x+ v* =a” and P (h.k) be a fixed point. If the locus of

the point which divides the join of P and Q 1in the ratio p:q 1s a circle C. then the centre of
Cis

B+ =a 5)80% Qaf DokoP 308050 P (hk) e 8 Dok esed.
P 508050 Q ©fo 807 S pig dQBS” IFLoB Dok Bwg), Do HFo a8 HHo C
w008 C Bws), Soo
Options :
(p+q P+q
L
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.

( hp+kq hp+ kq)
& p q

2.

.

-
3 ® p ‘ q

( hg kq ]
v \P+q p+q

Question Number : 53 Question Id : 4928632613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

A circle C passes through (2a. 0) and the line 2x = a 1s the radical axis of the circle C and

. 2 2 2
the circle x™ + v~ =a" . then

C o3 28 fHdgo (2a. 0) Homdr&’od 00 2x = a Bp, HFo C 8ok Jygo
X +y =a"e Sreo e, vond

Options :

centre of C 1s (—a. 0) and C passes through (0.0) and (—a. —a)
C B8, oo (—a. 0) Sodasw (0.0). (—a. —a) © ow C Food

1. ®
. . 2 2
circleCis x“+y" —2ax—2ay=0
e o
. % C3ygo x +y* —2ax—2ay =0

centre of C 18 (a. 0) and C passes through (0. 0) and (a. a)

- C 308, oo (a. 0) Hodcsn (0. 0). (a. a) © Kow C F&od

centre of C 1s (0. —a) and C passes through (—a. —a) and (0. 0)
Sl C &Boo¥), oo (0. —a) Lodasw (—a. —a). (0. 0) o Koz C Fsod

Question Number : 54 Question Id : 4928632614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Correct: 1 Wrong : 0



If two distinct chords drawn from the point A(4. 4) on the parabola y* = 4x are bisected by
the line y = ax. then the interval in which a lies 1s

.1'2 =4x SoSechon A4 4) Hod ADS Tod IS ergew, ¥ = ax BB SSo8oES

RoN0EB. a 0B LosSo
Options :

3 1
3 3
2&
1+J§ 5+\/5
3 2
3 ®
4 ® (2_0-::)

Question Number : 55 Question Id : 4928632615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The locus of the mid point of the line segment joining the focus to a moving point on the

parabola y~ =4ax is a conic. The equation of the directrix of that conic is

¥ =4ax 0750000 a8 SOSDoEYK, T THI E0H Sprpodo B, H0dg Dok
DokodGo wf To8lo. & To¥S0 BwE), AoHETY D ES00

Options :

1 ® P
> 8 X—=4da
3 # _1‘=0
4I.‘;.T=O

Question Number : 56 Question Id : 4928632616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Correct : 1 Wrong : 0

For the ellipse 4+ + _«..-3 —8x4+2y+1=0, the focus and the equation of the directrix are
respectively

42 177 —8x+2y+1=0 BEIEIE TH 56080 AohEdp HEGRIV S/
Options :

(—l—iﬁ.l)..’;% 3+1=0
1. ®

5
o (F1-V31) By 443 +4=0

4

1.—1——)._1'+ 3+1=0
L

V-(l.—l-ﬁ).ﬁ_1*+x/§+4=0

3.

4.

Question Number : 57 Question Id : 4928632617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
If 4x+v+p=0(p>0) is a tangent to the ellipse x> + 3_1.~2 =3 and 16x+¢qr+14=0

(g >0) is a normal to the ellipse +2 + 8y* =33 then p+q=

Lx2 +3J’2 =3 &gégej;&g L4x+_1-‘+p =0(p>0) ¢ Y0 wH&r, 'xz +8y* =33
5%533@@§ '16x+q‘1'+14=0-(q >0) o8 @oowdy wond, SPOLAS p+q=

Options :

1.v”8
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Question Number : 58 Question Id : 4928632618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The locus of the mid points of the chords of the circle y? + _1-1’ =16 which are tangents to

the hyperbola ‘91-3 ..15_1-2 =144 15

9x” —16y" =144 ©8H0°5005 I8 NGPpen ey X~ 4y~ =16 o BwE), erge
WDPg Dodyw Dododo

Dptinqs:
2 2 2 2
.8 12x° —-8y" =x"+y°
3 a2 2. 2\
_ Ix“+12y" =|x"+y
4
2 2 i 21\"
- 16x° -9y~ =(x"+y")
: 2 2
16x* -6y =x* +y*

4 %

Question Number : 59 Question Id : 4928632619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

If the line segment joining the points P(2. 4. 1) and Q(3. 8. 1) is divided by the plane
3x—ky—6z=0 exterally in the ratio 4 : 5 then k=

PQ2. 4. 1) 58050 Q(3. 8. 1) DoHhosr §0%H By modo, 3x—ky—62=0 oS0

e Srgor ", 53&&@&?‘ A BoT0ES. f;—séjés F =

Options :
£ w —1

> v 1

(S

('S

[ ]
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Question Number : 60 Question Id : 4928632620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the direction cosines of two lines satisfy the equations / + m + n = 0 and
2/m + 2In —mn = 0. then the acute angle between those two lines is

Sodo Speo 85 SR, [+m+n=0500050 2lm + 2In—mn =0 320887 0o Sydeted,

& Bod Tpeo NGy Ko w800

Options :

> o

N

Question Number : 61 Question Id : 4928632621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The perpendicular distance of the point (1. —1. 2) from the plane x4+ 2y +z=4.1s

X4+2y+z2=4 Soo $0& (1. -1, 2) DoLH$s Ko wowdrdo

Options :

1_ﬁ‘\/ﬁ

[ ]
gcollegedumas
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Question Number : 62 Question Id : 4928632622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

n—sco

If f(x) satisfies 97 f(x)+m f {1) =0. where f(x)=lim n[x%*‘ —l}x > (. then the
:

value of m 1s

f(x)=limn r% —»1].1‘ >0 ©oSHydd 9?f(x)+mf(%) =0 3 f(x) &3 S5%08,

: n—oo
S M 0D

Options :

1
, % 97

&

M

0

w

4Iﬁl

Question Number : 63 Question Id : 4928632623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

[ ]
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J1+ax —+/1—ax g -
g S
e 0<x<l
L x—2

1s continuous on [—1. 1]. then a =

J1+ax —+/1-ax - J D
_ ks Y
FL1BS f(x)=
x“+2
0<x<1
x—2
VWS, WYk a =
Options
1 v —1
5 w —2
3 b 4 l
4% 2

Question Number : 64 Question Id : 4928632624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The function that 1s not differentiable at x =1 1s

x =138 038005005 (©HI00h0

Options :

. fix)=|x].—ee<x <eo

l1+sin(x—1) ,—co<x<l

fHlx)=

g >
5 % X x21

gcollegeduniaa

el



= y2>1
Sw \ s
f( | |x—1‘+[r—2 ,—oo< x<l1
X =
" l+y—2 y>1

Question Number : 65 Question Id : 4928632625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Match the items of List-I with those of List-II

-] S woTon THer-Il SV woFod SBT3

List-1 List-II
erae-1 -1l
(a) i tan'l[\/l_cosx] (1) log(x+m)
dx l1+cosx
& (Balp-t I
(b) _,l | ({) -—— 3
dx\ 3x+4 ( I x:)
e e
(c) smh x (111) =
" d* [ caf 12" s o
dx’ 1+ x° i J1+x?

(v) not differentiable atx =1
xr=1 ;’:cé 800050 5%
The correct answer 1S

00 LoD BTV

Options :
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(@ (b)) () (@
Lo (i) (V) @(v) (i)

@ () () (@
, x ) () (@) (ii)

(@ (b () (@
3% (1) (@u) @) (@)

(@ (b)) () @
Lo ) ) @)

Question Number : 66 Question Id : 4928632626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

% L, ' ‘ 2
If y=2cos(2logx)+3sin(2logx).then x*y" +x'+2y =

y=2cos(2logx)+3sin(2logx) wowd, ¥’y +x +2y=

Question Number : 67 Question Id : 4928632627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

[ ]
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Consider the following statements
A 1s relative error in the area of a square when the relative error in its side 1s 0.4
B 1s relative error in the volume of a sphere when the relative error in its radius 1s 0.3

C 1s relative error in the surface area of a closed cylinder whose height 1s equal to its
radius. when the relative error in 1ts height 1s 0.2

D is approximate errorin ¥ =x~ +x—3 when x=2 and dx=0.1
The ascending order of the values of errors in these statements 1s

& 18od PI3TTosH So80dk

A8 o8 SEERED Bg), 020  FRE &0 0.400080yH & SEER0 IT0 oS
g &R0

BeRb o8 A¢hn Goog), ogdrdoes’ rwg §ho 0.3 00addyd & F¥o o8h05r08°
ol &80 |

C o368 o8 Hrohadd Spddn B, RSV FE §ho 0.2 vonddyd & T

Fgrgos® ddrSomr 4ol o drdo edddy ITopes'™ FEE R0

Ded3d x=2 %0c5n 0x=0.1 BAVIIYE _1-‘=.T2+.T—3 S GeronoRy F'R0
& RITVT0S'A TR0 Jenden B ebS E00

Options :

. « B.CAD
5 % A,C,B,D
5o CDAB

o DAER

Question Number : 68 Question Id : 4928632628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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[
[

"
[

=1 cut each other orthogonally. then k=

b2
2
]

-

X Vv % y
7o =1 ®oasn —-o-=1 o3 SEes $88)00 vonFdso Fosowwed,

Question Number : 69 Question Id : 4928632629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The value ¢ of the Lagrange’s mean value theorem for the function f(x)=x(x-1)(x-2)

2

: . ip
in the interval [0- } is

1 :
[O.—:| ©oddos® f(x)=x(x-1)(x-2) @DSrI8 Burod HoGgd Jewd dFodo
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Question Number : 70 Question Id : 4928632630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If O is the point on the parabola y* = 4x that is nearest to the point P (2.0). then PO =
¥ =4x 30050000 Ko O o Dot P (2.0) DoshHssH ¥R Srdos’ &ob,

Options :

Lﬂl

o

> of

o
9

4_1@4

Question Number : 71 Question Id : 4928632631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

g o X ;
If jSlll : dx = A(x) + constant, then 4(x)=
a+x
in~’ % F— . Oq » P e | . A
Sin dx = A(x) + 28073, wond, edvds A4(x)=
a+x >
Dptiﬂﬂ;:
. f.\'
amnl — +ax
1 % a

[ ]
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- .(a+.r)tau*1«/1—'+a\/;

a+Xx tall_l —— VJax
( )
a

4.

Question Number : 72 Question Id : 4928632632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

cos2x-sindx
I S =
cos .r(l + COS~ 2.1')
Options :
14 cos” 2x
log —tan” x+c
- 1+cos2x

14-cos” 2x )
log +tan” x+c
5 % 1+cos2x
1+ cos 2x >
log - +sec” x+c
1+cos” 2x
3
53
(1+cos2x) 3
log - +sec x+c
5 14c05" 2x
4

Question Number : 73 Question Id : 4928632633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
3
_[(logr) xtdx =

Options :
3 ("»\’11‘31‘6 )= log 1‘)
X P B

125p° —75p> +30p—6 |+
6’79[ 4 & 5 ] (28,6 p=logx)
1.

[ ]
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where p = log x
s [l?5p3—25p2+30p—5]+c ( P E%)

e (28,6 p =log x)
> R
5 T . — o
- [125]) 60P2—35p+5]+(’ (Wllelﬁ‘p lobr)
% 6_5 (28,4 p=logx)
3
i (where p = log x)
125 (28 ¢ p=log x)
q ®

Question Number : 74 Question Id : 4928632634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cnrrect 4 § Wmng : 0

Iffﬁ_J—

A+B+C+D+E=

dx= 1‘+ET/+D1/+CTy+BI/+ ir/+102(\/_—1)6+K‘{11en

dr—-r+Er/+D1/+Cr}/+Br}/+ «11}/+100(J_—1)6+K 00008

S

O A+B+C+D+E=

Options :

137
1 « 10

129
> x 10

9
2% 10

7
4 ® 10

Question Number : 75 Question Id : 4928632635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .
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Correct: 1 Wrong : 0
A

J.E‘Sill 4er| dx =
0

Options :
R T—1

2
2."“”

E.V”

21

4.

Question Number : 76 Question Id : 4928632636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

1 .
Iff(”)=l[(n+1)(n+2)(n+3)....(2n)]§.then him f(n)=
I N—oo
_ 1 |
f(n):l[(n+l)(n+2)(n+3)....('2n) n wond, edHvd lm f(n)=
T n—eo
Opﬁuqs:
8
1. ¥ €
ol
o> % F
2
3% e

[ ]
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Question Number : 77 Question Id : 4928632637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

and y=1-|x| is

The area of the region bounded by v = |_r

wuf

j‘Zl.’c“ 08030 ‘1‘21—‘1“ OB 2020GS |rodo ST L0

Options :

.
1
2 2
3
o
# d—

1_‘,.1_1

Question Number : 78 Question Id : 4928632638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Consider the following differential equations

& 808 ©i8od didros &8l

o [1{ )] -(2)

The ratio of the sum of the orders of D,. D, and D; to the sum of their degrees 1s

Dy, D,5:8050 D; © 383rere G308, B0ES0S8, 8 S8K8e Sndsnst Ko N8

Options :
1 ® l 2

> » 1:1

3,/2:3

4 ® 32

Question Number : 79 Question Id : 4928632639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

* : . v .
The general solution of the differential equation E =l+x+y+xp is
b
©SE0N B8R0 =l+x+y+xy B0g), ST FES

Options :
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1. -
52
vy=x+—+k
2 *®
X
log(l+y)=—+Fk
3 % :
2
X
X+—
y=ke 2 -1
4

Question Number : 80 Question Id : 4928632640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The general solution of the differential equation (1 +1?) dx = (Tan'y —x) dy is

©380d S88mo (1 +y?) dx = (Tan 'y — x) dy B0, F e PSS

Options :

=
xTan™'y = e(Tm ) +k

1. %

| a
xTan'y=e™ Y —1+k

3 &£
Tan_lr -1 y
xa " ¢ =(Tan y—e )+k
3 % '
; 5,
i (Tan 11*—1)+ke it
4 ¢ ;
Section Id :
Section Number :
Section type :
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Number of Questions:

Physics
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-

el

collegedunia:

India’s largest Student Review Platform



Number of Questions to be attempted: 40

Section Marks: 40
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Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 49286360
Question Shuffling Allowed : Yes
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Correct: 1 Wrong : 0
A tokamak fusion test reactor works on :

$'5Sorf BQ 005,80 HAWABIE
Options :
Bombardmant of thermal neutrons with Uranium-235

Gaod Srgiroen diddohn-235 & eddind

Magnetic confinement of plasma

oI 08 HOWEDNS >
> o ﬂ?)‘ e o ™ &

Electric discharge under high voltage bias

NEVIS 5‘65 ROITD $0 2D IS G800

Acceleration of charged particles m electromagnetic fields
Aoglcdh ) 08 oS’ Sdno BobS ©I¥ Serol
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€0 Hy

free space. u, is permeability of free space. will be

Dimensions of the quantity . Where P 1s the pressure. €, 1s electric permittivity of

o
€ My

Ho 5 ©oSTEED Gok), WOIENNOS

o3 gy, Dodoen, 2§68 PLET) €, g wosTdsn Bwg), Ddgs 8BS,

Options :

| o MLT
5> % ML-T-
3 & N[LST_3

; & ML2T4

Question Number : 83 Question Id : 4928632643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Consider a vehicle moving with a velocity 54 knvh. At a distance of 400 m from the traffic

light brakes are applied. The acceleration of the vehicle. after the application of brakes
is —0.3 m/s%. The vehicle's position relative to the traffic light is

54 ki'h 350&° HoSr8id) Ty H0KBoKos. Lrnf 5708 D8 400 m drdo S
B0 I3, Boor IS Sogd TS Sl —0.3 m/SE ErhE 5708 Jrd Syrs
TS s

Options :
| ¢ 2m
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Correct : 1 Wrong : 0

Two trains A and B travel mn two parallel rail tracks in opposite direction with speed v, and
v,. respectively. They take 4 sec to pass each other at this speed. If the speed of train A 1s
increased by 50%. then they take 3 sec to pass each other. The ratio v,/v, 1s

Bods A %0050 B Bey wETITES S58880m S57088 BEsS® S6HT v, 58050 V,
Ired® (HolrdTon. & M08’ ©d LETITES 4 seC sFood” Ténerow. A Jen
SRy 50% o8B v wETISTES 3 seC sToS” Tnaron. ViV, G

Options :

1 ® 05
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A small ball is thrown at an angle 45° to the horizontal with an iitial velocity of

242 n/sec. The magnitude of mean velocity averaged over the first 2 seconds is
[Assume acceleration due to gravity. g = 10 m/s?]

SOITHB0 -2\/5 ny/sec 005 DHo8 §82357r088008" 45° S0 VoSSR VBT K.
300¢5¢5 Bodks DES0S® Ho°B0 KR, TR Jodgio I HBS;easn Jend (Mhér S
g =10 m/s? > &sirohdoo)

Options :

[ = 7.0m/s
> o 8215

3 % 7.8 mV/s

4% 9 nys
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The position vector of a particle moving in a plane is given by 7 = acos@ri +bsin ax j

where 7 and ; are the unit vectors along the rectangular axes X and Y : a. b and o are
constants and 7 1s the time. The acceleration of the particle 1s directed along the vector

08 B00& HoIrBRS) &m0 S HOF F=acoswri +bsinar j. 20868 | 0050 | o
Sdm X Socsn Y von oxo HFod’ Jstof 68w a, b Hockn 0 e T Hen
DORW 57Uy AN, §:000 G30E), S180 & FRILOT odnod

Options :

| % —ai+bj

Question Number : 87 Question Id : 4928632647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A child 1s on a merry-go-round. standing at a distance 2 m from the centre. The coefficient
of static friction between the child and the surface of merry-go-round 1s 0.8. At what
maximum angular velocity can the merry-go-round be rotated before the child slips?

(Assume g = 10 m/s?)

Sorheor) D o8 2me $rdod” of wrend Jond eanid. wrendd oo ool)o
S8 gy VDG HeagSn 0.8. wrendd FOFR Swvodh Joheono, Jod KO
S 3Hos* BySEy?

(g = 10 m/s? @808 & S0)

Options :

, = 0.5rad/s

, « 11ad/s
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i

4 » 4rad/s
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A ball of mass 0.2 kg 1s thrown from a height of 1 m and with an mitial velocity of ‘ J10 mv/sec

at an angle of 45° with the horizontal. Assuming acceleration due to gravity g = 10 m/sec”.
the modulus of momentum increment during the total time of motion in kg ny/sec. 1s

0.2 kg 55078 Ko 2089 1 m Jdaihood &0 36w V10 misec & Eoadsroswas 45°
F00s” VBT, HE] Scdmo g = 10 m/sec’ m grdod8, Iwdo HoSrns oos®
BSgBHoS* whde S0Sredoo kg m/sec o
Options :
2+4/10
L= VIO

-l+m
. V5

3. ¢ \E
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A small body of mass 500 g moves on a rough horizontal surface before finally stops. The
mitial velocity of the body 1s 2 m/sec and coefficient of friction 1s 0.3. The absolute value of
the average power developed by the frictional force during the time of motion will be

( Take g = 10 m/sec?)

500 g (&Sgorarie D) 999 From enAFS $oB 500k ST K8 §82 Sdrodddwo
§oenshod. ISP STOTNSL 2 m/sec ook b HDeagdn 0.3. SHPH Eoendus)
508" ool G&G wand Siftn FIoPhn DBwE S8 Jend

(g =10 m/sec? m &8 E050)

Options :

i TW
Lo L5W

;8 25W

Question Number : 90 Question Id : 4928632650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A 1.5 kg ball 1s shot upward at an angle of 34° to the horizontal with an nitial speed of
20 m/s. The maximum height the ball reaches 1s

(Use cos 34° = 0.83 or sm 34° = 0.56)

SOJiH0 20 m/s & 1.5 kg 2008 §82 $5r080°08 34° B'008’ 8 DDTH. 208 TH
KO%R ek
(cos 34° = (.83 S sin 34° = 0.56 ™ &8 H5050)

Options :
" 6.3m

94m

> R

-

3 % 13.8m
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Question Number : 91 Question Id : 4928632651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: (0
If a disc of mass M and radius R rotates with an angular acceleration ‘e’ the torque acting

on the disc

M ($5g0°3 500050 R grgdns) &) ‘a’ §'hoh Sdedns’ 8hHdéod. & &30
5Bk &6},

MR2a

= 1

4.

Question Number : 92 Question Id : 4928632652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Consider a sphere of mass M and radius R centered at origin. The density of material of the
sphere 1s p = Ar*, where r 1s the radial distance. o and 4 are constants. If the moment of

5, g : , ™ ;
inertia of the sphere about the axis passing through center is 7MR . the value of o is

M ($530°8 500050 R Tg@rgsnd) f¢sn Sarefokhd 5§ edin H0KBosos. ¢
STE FoEE p=Ar® 20 S rdBoHS Ersn, A58 4w YTHed. A Togsn

-
fhoa %) wfo Bdom T wddy @Sy TMR wownd, adws
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The position of a particle executing simple harmonic motion is given by

s —

7. &
x(t)=2c 0-‘{ l_ﬁr & 7) where x 1s in cm and 7 1s i seconds. The time period of the kinetic

energy of the particle in seconds 1s

T T
58¢ SoS)E SoTes Bhod) uE Sw Fso (1) = ZCOS(Fr—;) ™ (D808, ROKS*

X &0 CM 0D 1 REDLOS” FOTH. 00 BwE) NSxudE 638l ol RDELLS

—

Options :

1.5*1.[

T

i 15

15

30

4 R
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An artificial satellite of mass m revolves around the Earth at a height /# with a speed v. How
much power (Energy per second) will it require to keep itself moving with constant speed
in the orbit of radius r ?

mBHGo2 o w8 EYBN G0 g h 9835° vV 58e° HBIEFa0086. %36 SEE
r T5rgolio E456° SSosbE s BEKTAE BSvEHGhy FDYBD (08 DEDS® FHLVS )
D&
Options :

m
. % T

1
—mv?

' 6mM,
5id (R, +h)

4.4’0

Question Number : 95 Question Id : 4928632655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Consider an air bubble of radius 2 mm 1n a liquud at a depth of 5 cm below the free surface.

The density of the liquid is 1000 kg/m’ and the surface tension is 0.1 N/m. The pressure
inside the air bubble is greater than the pressure at the free surface of the liquid by

(Take g = 10 m/sec?)

28 (850657, "bﬁswaée.no 8o S cm edorvs 2 mm J”g@"go BOAS md ediido SBHBdTro.
ESFoEs 1000 kg/m® 58050 S0ddgd 0.1 N/m e, (@S0 gan) dwo 3¢ o 98SS»
508 MmO AAS'Y DESB0 Jod EYS

(g =10 m/sec? ™ &08FSo50)

Options :

| % 500 Pa
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_ 600 Pa

. x /00 Pa

, » 800 Pa

Question Number : 96 Question Id : 4928632656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

A cylindrical vessel 1s filled with water upto the height 1 m from the base. A small orifice
1s opened at some height in the cylinder and the water level 1s reduced to height of orifice
in 20 sec. If the base area of the cylinder is 100 times the area of orifice. then the height of

orifice from the base is
(Take g = 10 m/sec?)

8 Qrrsd P odid $H0d 1 MK S B Jodwdod. dpFrIs T wkid Sood
Fod dRS* Joghin Babadod Sodoin I8 dwo JoEdnd) JSst 20 sec os® Shod.
Qo rRToge Soi@ FTergds 1003 ©wond Srdo wdib $o0d Joghn I8

(g = 10 m/sec? i &508E0S0)

Options :
, « 30cm

» % 60 cm
s » 40 cm

4 » 20cm
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A vessel of volume 7 contains a mixture of ideal gases at temperature 7. The gas mixture
contains ny. n, and n; moles of three gases. Assuming ideal gas system, the pressure of the
mixture 1s

28 H0Srdn Vead FE ToEs 5§ sshTosnde DFSr) §0 &Hd. ok
DF00S” Ny, Ny FoBO0 N3 IrSew Ko Joordy TPoin SGSrenYen . sEY) TPo%0
SgHR0 SR, MEFDo DY), DESH0 Jend

Options :
(ny +n, +n3)RT
1. ¢ V

| (my ny ny )RT
2. % V

RT
Ving+n,+mn)

3"

RT
V(ngn,ng)

4 &
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The resistance of a thermometer 1s 100 € at the triple point of water (273 K) and 1s 300 Q

at the melting pomnt of gold (~ 873 K). The temperature at which the resistance of the
thermometer i1s 200 € 1s

I8 @8DoY (273 K) 38 o8 550'“&53&.35 QEESn 100 Q So805» 2omrdo (0SS
Do (~ 873 K) 3¢ &GS 300 Q. 6501&5336.35 200 Q SrPSYPd GFHS Dewd

Options :
. % 273K

s ITK

% AT3K
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Question Number : 99 Question Id : 4928632659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A diesel engine has a compression ratio of 20 : 1. If the initial pressure is 1<10° Pa and the

initial volume of the cylinder is 1+10~ m°. how much work does the gas do during the
compression? (Assume the process as adiabatic)

(C,=20.8 Jmol K. v, =14.(20)'*=66.3)
v Yair

o8 8BS chogo $0DES X8 20 : 1 EOACINHB. DO0EE FO HoB5BHBIPeB0
1x1073 m3 S08050 &0 HES50 1x10° Pa wond $odESes” 050 T 5 Jod?
(DB PTHE HEHT FrDoHSw)

(C, =20.8 Jmol K , Yoy = 1.4. (20)14=66.3)

Options :

. ou — 8807

3 ® 220.1

o % 485]
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A polyatomic gas has fvibrational degrees of freedom. The ratio of the specific heat at
constant pressure to that at constant volume will be

o8 I DHSreE TS0, fEoSS FgEogy S0Men EOABNIG. Y wESS®
0050 6 FIOSrEING I§ Tako DIFHIVe VRS
Option:s:
4+ f
o 3+ f
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Question Number : 101 Question Id : 4928632661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong : (

The speed of sound n air at temperature 7" and pressure P 1s v. When the temperature 1s

increased to 27 and the pressure 1s reduced to P/2. then the speed 1s changed to

e T 0050 HESSn P 55508 mos* ¢ 3650 V. s 2T8 od So8as»

DG P2 % S0 $¢ 3Kk

Options :

l_ﬁ 2V

Z.E*V

3 v V2V

\Y

4.3‘\[5

M S8
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A printed page is kept pressed by a transparent cube of edge 7. The refractive index of the

cube varies as #(z)=1+ ? where = 1s the vertical distance from bottom of the cube. If

viewed from top the printed letters appear to be shifted by an amount

SRE0NS YLTETI | wohifo FISHE DIS0VE T wE Godabod. WHSSW

BwE). SBESS MoeaEdw ,U(:)=l+? BJ00D JrBB0h. REE = PO WD

08 Qe Erddn. S0BoDS wiTrw D Sod Sy vioren

D DITON

Srdo a&ﬂé@m

Options :

, v (1=In2)z
> % (2In2-1)¢

[
gon 22

2t

e 3In2
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A half spherical glass lens with refractive index 1.5 1s placed in a liquid with refractive

index of 1.3 (see following figure). The radius of the half spherical lens 1s 10 cms. A
parallel beam of light travelling in the liquid 1s refracted by the glass lens. The absolute
value of the position of the image from the centre of the glass lens will be

DLOS® Wrdd dFor, HBASS Meeddn 1.3 ¢d) ESos® 1.5 SEFSS MeasSnd) ol
oI esd mer L0 Gomrd. efi s d mar SLSo argardshw 10 cms. (@S0
Rosrelowh H3rods 5708 Houdw mer Lo B8 IBEFIoNs. mar EbE SodSw
D0d O8N0 B, TN DI D

4 % 11.5cm

Question Number : 104 Question Id : 4928632664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong : 0

A light beam of wavelength 800nm passes through a single slit and projected on a screen
kept at Sm away from the slit. What should be the slit-width for the ray-optics approximation
to be valid.

800nm £5013E gorie 5708 Yoain el 2ol 0O S0 (HITD, WOE Kood Sm SrdosS e

80D P850 BobT 8. OV GYFTZ0o Growod) Benwrin 5IFAE GodSOVD

WOBSv0L0 Jewd
gcollegeduniaa
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Question Number : 105 Question Id : 4928632665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Choose the incorrect statement from the following

$08 VBTS00 S” YW DHGI0D H8obHEn

Options :
The electric field m electrostatics obey principle of superposition

RS Ddogs THod' gs o wrrgdiie drgo edIgos

The electric field mnside a perfect conductor 1s zero

. TE Dogd TTE wodTiSnd” ddgd FEo dend Brigo
5 _

3

The electric dipole will try to orient in a direction opposite to the external electric
field

D0gE Bogoydo ey DogS B8 HgE0E HIS' DTrgdhn BodErs [Holdxod

4 ®

The electric flux passing through any closed surface enclosing the charges remains
constant

363555”3%‘&3:‘63 ©535800 &d) Qod J0H)F doo HoF HALAOW DS wPHI TSN
”ﬁdoﬁ‘* G otnod.
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Consider a parallel plate capacitor with plates in the shape of square and in X-Y plane. The
gap between the plates 1s filled with dielectric material. The dielectric constant & varies

o
with X-axis as k(x) =| 1+ (%) where o 1s a constant. Let C, and C, are capacitance in

: : : . o Gy T
the presence of dielectric and air respectively. If the ratio C_d e then the value of o

must be

X-Y 008" SR Josend) JdSrodd TIRLbd HoKBodod. dotw gy J8ogS

o
22088 éa’gzﬁwa QoV0EWoH. AWgS 20g8 %G"uéu k, X-<sgos® ]‘-(_1.):[1_'_(%) :|

055000 Sr6&08. QOGS o JToksn C;, C,e0 SEHJT BE wodE ST P50

_ 7
0050 MOS* VodS TFDLF. NG —L =7 CowB ERUOT o Dess

Ca
Options :

1_23
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Correct: 1 Wrong: 0

The emfs of three cells connected in parallel are E, =5V . E, =8V and E, =10V and
their internal resistances are 'Rl =153, 'Rz =2€Q and 'R3 =3 respectively. By changing
E; to E,y the equivalent emf is doubled. then E; in Vis

QdrogSom FEI =3F. rEz =8V Sobosw 1E3 =10V ddogdmes aodnwos) durd
Hoires Eandamon. T8 ©ods ASTes S&3m™ R =1Q, R, =2Q $:8c5» R; =3Q.
E; % Ey 5708 Sog Agan ol poo Tododoihl. BHYE E,y 0% V o
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A cell of emf 10V and internal resistance 3 €2 1s connected i parallel with another cell of

emf 7 V and mternal resistance - € such that their positive terminals are joined together

-

and so are their negative terminals. Their positive terminals are joined with the negative
termunal and their negative terminal 1s joined with the positive terminal of a third cell of
emf 20 V with internal resistance 2 €. The combination can be replaced by a battery of emf
F and internal resistance 7, then the values of E and r are respectively

: 3
10V .90.2., @088 38830 3 Q o méf&'}l TV Ad.or0. @088 I8 S0 EQ &)

DEHErIE T8 G FHPS0OITEST 805N 0GHSINITEET FOFH. T8 &S,
2oee GyTre 20 V .. S0805n @08l A8°GS0 2 Q fo Jordd 000 2008850
DHOABN HS T OB SEHJM eodagon. & o) .07, 508050 @odd I5°ES50
re fo wrgbdd” Srdowdn). @ E Hdddn ro Jenden S&Hdm

Options :

Question Number : 109 Question Id : 4928632669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

Correct: 1 Wrong : 0



A square loop of length L 1s placed with 1ts edges parallel to the X-Y axes. The loop 1s

carrying the current /. If the magnetic field in the region varies as B = B, ( 1+ 1?) k. the
L_-
magnitude of the force on the loop will be :

X-Y vgodods L &) 5§H§é’w6[§3 WY VOWONOTH. ord [ IBES (DITTTED

Soh &30, & (HB¥os® wohd o8 §go B= B, [1+%) k 83 5768, oS 20D

g«.

20D BP0

3 ‘\/E

, » V2IB,L
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A non conducting disc of radius R has surface charge density which varies with distance

I ' 4 ; "
from the centre as o(r) =0, | 1+, {E where ¢, 1s a constant. The disc rotates about 1ts

axis with angular velocity . If B 1s the magnitude of magnetic induction at the centre then

B
J NN

will be

R g g0 a&ogd 2o¢s dHHw do e3rod Sodo Hod do &rdo
I’ :
J(J*)=0'0|i1+\/% H0EG0 V80D SrHéod. RG.E Oy &8 ?go*oéo. ¢ So

w80 Bob ME'Ba% KBS Pomo B:5308. Boo 3§ Ko woHd, o8 (Him HOETDBM

B

B sond, Jend
ﬂoJOfUR

Options :
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&
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Question Number : 111 Question Id : 4928632671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

gcollegeduniaa

el



For a wire. as shown in the figure. carrying a current of 10 A. the magnetic induction field
at the point ‘0’ is : [ Use gg=4mn < 107 H/m ]

20" Hrdd o 8Kom 10 AJBgSRTTH0 (S R0s. 0’ Doty & eooir o
(08 o Jend (Uy =41 x 1077 Hm e so&o5%)

200 em >

)

.

?
i T=
-

Options :

% 2% 04T

o A% 10T
s u 10%x104T

, w ATX104T
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A solenoid of radius R has ‘»’ turns per unit length. The self-inductance of the solenoid per
unit length 1s

ng@vgm o 2.8 FBIToNEES” Rdor PWIS” N DR Hod. IOTToNd B0E),
P70 PEHS* Ko Scoho-(WEES e

Options :
| % HonmR?

5 % Mon R?
3 B ﬂﬂ Hz R2

. o Ho n’n R?
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Correct : 1 Wrong : 0

A distribution transformer with an efficiency of 90% supplies to a colony of 10 homes. All
the 10 homes have electrical oven running at the same time. that draw 20 A current from
220V lines. The power dissipated as heat in the transformer 1s

10 £y5end) P08 0% >Hodgofio o 880 ErQHFrds &g J8do" Bdos.
10 HyFen o) &8 JHaos® 8 & &) ddgd Qe & 220 e sro Sod
20 A DogS (@75 IATrARK. WG 6S” IAHooho Dobag &y FIogssw

Options :

12.2 kW

l_ﬂ

> « 4.9KkW

. » 84kW

L% 9.9kW
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Correct : 1 Wrong : (

The law not described by any four of the Maxwell's equations is

Ty SrERS Lo’y J L) TIVSIT Spodad s JcDHoHW
Options :
Gauss’ law for electricity

- QEOgHINEY VOWOROWN MR VTT0D0DW

Le-Chatelier’s law of equilibrium

- O-TLO0NE JATrEd VoDN

Gauss’ law for magnetism

@@@’Z,oe‘éeﬁszﬁwéﬁﬁ POWVOROVI Mo VOV

3 &
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Faraday’s law of induction

L T3 @08, e dabdosw

Question Number : 115 Question Id : 4928632675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Let E 3 and'E’o denote the amplitude of electric and magnetic field of a plane electromagnetic

wave in air. The magnitude of the average momentum transferred per unit area and per unit
time to a totally absorbing surface is

E, %0050 B, 00 mOS* erglchinod Sdoo Bng DksS 50050 ©uhimod
BEodH rATD. JoFrd Fhmn s wl VELFT00S PIrlTergds wideronods
BSgSH HOIr0 e

Options :

Question Number : 116 Question Id : 4928632676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a hydrogen sample. if the atoms are excited to states with principal quantum number 20.
the number of different wavelengths which may be observed in the spectrum is

BTS sgobo dopg 20 o Fowod TFES IHrTSR v GB2E500s,
SgHe00e® HBIV0TES T I SGorBaorge Hopg

Options :

1 ® 100
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Question Number : 117 Question Id : 4928632677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider a radioactive nuclide which follow decay rate given by A(¢) = 4,27’ where

A(7) 1s the fraction of radioactive material remaining after time ‘7 from the initial 4, at
zero time. Let 4, be the fraction of original activity which remains after 120 hours. Likewise

4, 1s the fraction of original activity remaining after 200 hours. If = 16 . then the half-
1y

life (7,) will be

558 Bt A(f) = 4,2 Ko BERreE)E BoBs Q) H0KBoT0d. RGS* A(N), 1= 05
O VABrT S Sogo 4, &%, 15wo Sond HhdS Herdo B, woFo. 120 Hobeo
$o78 Sore Boiriesd wodo 4; odsorro. ©ddFor 200 Kobe Sogd Sore

#

Sodriosre wodo 4, esgoaro. 4 =16 wond 8dEIssoo (f;) Je0d
2 y -4

I

Options :
; = 10 hours

> « 20 hours
- » 40 hours

4 % 60 hours

Question Number : 118 Question Id : 4928632678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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In the diode-based rectifier circuit given below. if ¥, =¥, sin e and the diode is ideal. the
average value of 17 1s

o8 RBJBS $Brd ST0E IS, 068 Soofod V_,.. =V, sin@r wong $00ciw ER3rG
slHogsred 00 &0, Vp Bwg) o008 dend

R 5 D
Vp
..+..
Ve G‘) R, "
Options :
RL Vm

V.
(RL +RS) m S QI

4 ®

Question Number : 119 Question Id : 4928632679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Consider the circuit given below

Bod NS Jodlr) HoMdoTod

A

B ———

-

-

Choose the sketch depicting the output Y of this circuit having inputs A and B as given

below

Bod R508S Soch I3Ten A Sdcin B vong wendd Y ok By digrodc Sgoh
LA JotoEod

A I —
| 1 I | I I
| I | : I I
[ | | ; | |
B | : |
I |
I ; |
I , |
I ! I
i I }
I I I I 1 1
5| th ts ts ts tg
Options :
1 1
t t t
| % 1 Ty 3 4 ts tg
| | |
| I 1
I I I
I I I
5 % 3 ty t3 ty ts tg
I I I
I I I
I I I
I I 1
2 Y 4 t]. t] t3 t4 ts tﬁ
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Question Number : 120 Question Id : 4928632680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
For a television network. 5<10° channels are granted. If the central frequency of the

microwave link 1s 25 GHz and the alloted bandwidth for each channel is 2 kHz. how much
percentage of the link 1s used for the network?

gdoffl OoF Bog) Bo&

3
Sl

Fs)Sghn 25 GHZ Sodcin ©8 or3ds J038 58 Ideny 2 KHz 0and, & 2rerds
Tég O08 TS0 J0d?
Options :
- % 25%
0,
Chermstry
Section Id : 49286361
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questions to be attempted: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: |
Sub-Section Id: 49286361
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4928632681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The wavelength (in A) of a photon having energy 3 eV is approximately
3eV o 6§ do Frd $60688 550 (A o) drdom

[1eV=1.6 % 107! erg]
[h=6.626x10"7 erg s]

Options :

_ % 3000
. % 4000

. v 4141

4 & 7824

Question Number : 122 Question Id : 4928632682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which of the following set of radiations can not be seen 1n hydrogen atomic spectrum?
a) 7y-radiation

b) UV
c) X-rays
d) Infrared

TERS H8Erand) $ZHL0s” VoW DB S8 IB?
a) Y-D8Jeen

b UV

c) X-D88coren

d So&e

Options :

; » a,¢,d

9 “w C.d

3 a.C
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q4 % a.d

Question Number : 123 Question Id : 4928632683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which of the following are correct?
a)  First ionization enthalpy of He < Second 1onization enthalpy of Li
b)  Lihas the highest second ionization enthalpy

¢) All d-block elements are transition elements
d)  The only alphabet not found in the periodic table is the letter *J°
¢) Francium concentration is ~10~!° ppm on Earth

Bod TES' SOID AD?

a) He30&E eohu8den ogdy < L1 3085 o888 0Ty
b) Li% 02 Bodkd 0NESD LoTOy olnod

¢) der$H Sroso) S0I¢S Srosen

d o385 HGES” EALoW soferd o8 wgddn T

e) (Yoo g I 10718 ppm Godood

Options :

| 8 a.b.d

> a.b.d.e
3 # a.b.e

4 ® d.e

Question Number : 124 Question Id : 4928632684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (

The correct increasing order of ionisation enthalpy of He. Li*. Be*" is

He. Li". Be*" © @0Q88m Jogrdy di S0g308 Ek0h0

Options :
 « He<Li*<Be?*
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« Be?*<Li*<He
% L' <Be*"<He

i B <He<Li

Question Number : 125 Question Id : 4928632685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The hybridization of N in‘NO_*f‘;_ NO; and‘NHI respectively is

NOZ, NO; 06c5n NH o6 N @xng), $0868dmsm $6sm

Options :
. Sl e
.« SP-SP%.Sp

5 % SP. P, SP°
. u SP.sp°, sp°

4 % SP.Sp.sp’

Question Number : 126 Question Id : 4928632686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The bond orders of He,™ and He, are respectively

He,” 0805w He, © 20 Bdren L3

Options :

[ ]
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Question Number : 127 Question Id : 4928632687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Kinetic energy in kJ of 280 g of N, at 27°C is approximately (R =8.314 J mol~' K™)

27°C 5& 280 go N, f82248 k] o&® Sodrdon (R =8.314 J mol! K)

Options :
o BT
> ¢ 37.4

sx 56.1

s TAB

Question Number : 128 Question Id : 4928632688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
The correct plot of Maxwell-Boltzmann distribution at different temperatures (T) 1s

(Speed =30 : No. of molecules = wenHe Sopg)

VG NS (T) 0 I8 Ir§H3S-5" S80S H00ed8 JBGDS (D A8?

_ r_ -
Options :
T
No. of
mollecules
| Speed

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



Speed
> No. of mollecules
T
No. of
molecules
3 ®
T
Speed
No. of mollecules
4 ®

Question Number : 129 Question Id : 4928632689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

CaCO, reacts with HCl to produce CaCl,. CO, and H,O. The approximate mass (in g) of
CaC O required to react completely with 25 mL of 0. 79 M HCl 1s

(atomic mass of Ca=40.C=12.0=16.Cl=355andH=1)

HCl&* CaCO, $5g5708 CaCl,. CO, &dc5n H,O 0 bégd:aba’n. 25mle 0.75 MHCI&
T WEgT 0 CaC‘O3 BSgo°3 (g o) Sodrdom

(H8Srea0 oo Ca=40.C=12.0=16.CI=355.H=1)

Options :
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, # 94
> R 9‘4

. v 0.94

4 & 0094

Question Number : 130 Question Id : 4928632690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Calculate the approximate mass (in g) of H,S required for the following reaction when
15 L of oxygen at STP reacts completely.

XH,5 +y OE(g} — A SOE‘E’ R HEO(g)

(molar mass of H,S = 34 g mol™)

§o& w&gso, SIP 5§ 15 L o w8 jzad” From S8gJodobss stdood H,S (B55073

(g 0&*) Db

XH,S(5) + YOy 5y ——aS0,,,) +bH,0

2(a) 2(a°)

(H,S 3rer§ 55078 = 34 g mol)

Options :

. 15.16

—

Question Number : 131 Question Id : 4928632691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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For the following process

H,0,, (1 bar. 373.15K)==H, 0, (1bar, 373.15K)

identify the correct set of thermodynamic parameters

8o (Si8osose
HEO(@ (1 bar. 373'15K)\ﬁH20(m) (lbar. 373.15K)

&gﬁeﬁé?é LOTO VOSDS VS
Options :

AG=0.AS =+ve

. AG=0, AS = cﬁts‘é&éo

AG=0,AS=-ve
o« AG =0, AS =&e&)80
& &

AG=+ve. AS=0
5 ® AG= és*éééo.ASZO

AG=—-ve. AS =+ve
o AG=dowéés’o. AS = émé&éo

Question Number : 132 Question Id : 4928632692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

If the equilibrium constant (K ) for the above reaction at 500 K is 1.79 and the equilibrium
concentration of PCl, and PCl, are 1.41 M and 1.59 M. respectively. then the concentration
of Cl, 1s approximately

PCl, —=PCl, +Cl,
D 385 ve s orossn (K) 500K 58 1.79 58650, PCL 50050 PCLeo mEse

gcollegeduniaa
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Options :

L % 126 M
., % 3.59M
. % 0.59M

, v 1L59M

Question Number : 133 Question Id : 4928632693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 1s the pH of acetic acid at equilibrium. given that acetic acid concentrationis 0.1 M
and it 1s 30% dissociated at equilibrium. (log 3 =0.47)

Jo8srd mEs 0.1 M oon &obd, S5e8 38 30% IBrfo BobdB8 dHe s &
o855y pH dos?

(log 3=0.47)

Options :

som 353

, % 3.00

Question Number : 134 Question Id : 4928632694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Assertion (A):  Ferricyanide 1on oxidises H,O, to H,O in basic medium
Reason (R):  Oxidation product of H,0, 18 0O,

QNS0 (A): FoSrdsed” PPRI& woirs H)O, S H,Om 88800 MAoH
580 (R): H,0, 3§, es8)8¢e0 Bosradgdn O,

Which of the following 1s true?
& Bod TAS* B HSgBHN?

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
| (A) 30005 (R)Dodor $850 50050 (A)§ (R) 9008 e

Both (A) and (R) are true. but (R) 1s not correct explanation of (A)
- (A) $08asn (R)Todr 85850, 570 (A) 8§ (R) S030S I8 5780

(A) 1s true. but (R) 1s false
e (A) S50, 570 (R) ed8gdn

(A) 1s false. but (R) 1s true
P (A) 38530, 570 (R) Segdw

Question Number : 135 Question Id : 4928632695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Highest melting point among the following 1s displayed by

808 TES’ IO wEgRE BAFIS PV EG)oHH

Options :
, v B¢

3 - 4 Sl'
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4 % Ba

Question Number : 136 Question Id : 4928632696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Diborane reacts with ammonia to form X. which on heating gives H, and borazine. X 1s

[+]

A0 WIS
O =

D Gorsoso. X 6

& S8gToh X o qu)d:;::’néa. X & IdTcr Hy S0bosn S*6Eesd

Options :

1. ¥ [BH-?(NH3 )ZT[BHJ

> B 133 N3 Hﬁ

. » BH;.NH;

., [BH(NH,), ] [BH,

Question Number : 137 Question Id : 4928632697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The stability of dihalides of Si. Ge. Sn and Pb follows the sequence

Si. Ge. Sn So8asw Pb o 3HFBoo &g Edodw

Cooo

Options :

| o SiX, <GeX, <PbX, <SnX,

SiX, < GeX, < SnX, < PbX,
‘N? L A L

o

2

. PbX, <SnX, <GeX, <SiX

wl

. GeX, < SiX, < SnX, <PbX,

Question Number : 138 Question Id : 4928632698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Which of the following statements about smog 1s/are correct?
a) Smog formed on sunny days contain oxidizing molecules
b) Photochemical smog contains many reactive molecules

¢) The main polluting components of smog are oxides of carbon
d)  The presence of carbon monoxide in air leads to the formation of ozone in smog

TS D0220800 1§08 DIEOS" JD/AB BOFSI/SOFSE?

a) ordgsrod Q8D o Fwed’ bd&c%é SO 281880 0P enodrow
b) 508 Srchd FfiS" eI Iorgro wewHenotrow

C) PAS'Q JopgDd sTendy sEstw, 5o BwE), @3{95@3

d mds® s 3&3‘3&5 GodLo Jod IS LIS G HS0s

Options :
N _ 3. C

3 R b.d

Onlyb
i (b Som&R0)

Question Number : 139 Question Id : 4928632699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Which of the following statements about TLC are correct?
a)  Glycine 1s identified on TLC plate due to 1ts colour
b)  Amino acids can be detected by spraying the TLC plate with Ninhydrin solution

¢) The retardation factor 1s the ratio of the distance travelled by the solute to that of the
solvent from the base line

d)  Sodium chloride 1s commonly used as an adsorbent

TLC 8 J020800 od ES* J0GS JSBen ID?

a) TLC 2o Eﬁaﬁ:ﬁo &R Soil &g 80w

b) TLC Wi ASTIES THe07Q) $58 Q0T esdrodd HBowWHw)

C) 78 28 A8 S0 TSI 05N (@SB PASrBoNS drore QB odJo
Koeado (retardation factor) eoerss

d) & §VED FFloom HFIEINMT TEe D

Options :
. D%

> ® a.b.c

3 % bC.d

4_R a. C

Question Number : 140 Question Id : 4928632700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Identify X. Y and Z in the following reactions

Bod SGgod” X, Y. Z ol Hofowhdn

H,0/H®

,0/ %

2-Methylbut-2-ene

2-20BEeryS-2-55 1; Y7
2) Zn-H,

Options :
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X b Z

.« (H;O);CCH,0H CH,CHO CH,CH,CHO
4 Y Z

. » (H;C), CH CH(OH)CH, (CH,),CO (CH,),CO
X % Z

. » (H;0), C(OH)CH,CH, (CH,),CO CH,CHO
X ;4 Z

, « CH;CH,CH(OH)CH,CH, CH,CH,CHO CH,COOH

Question Number : 141 Question Id : 4928632701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following statements are correct with respect to benzene?
a) It forms triozonide with O,
b)  Itisnon-planar

¢) It forms only one monosubstituted product with CH,COCI in the presence of
anhyd. AICL,

d) Ifforms hexachlorobenzene on heating with CL, under photochemical condition

BoBIE Jo20HoD (Bod VBEOS’ HORBXY HD?

a) 28 0,8 BLEIE I60N0s

b) =28 dHdodn 578

¢) o AICLSHES50es* CH,COCIS® 28 3 af), 28 HE308 &d)Tm)R) J8)50:5308
d) 28 5o85FHS $oHes* CL & I4Bd8SydH W) 56BodSSH 2d0d

Options :
1 ® a. b

> % b.c
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Question Number : 142 Question Id : 4928632702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A compound having elements X and Y crystalises in a cubic structure. where X is at the
corner position and Y 1s at the center of the cube. The correct formula of the compound 1s

SHrosteny X, Y eo o o8 Eﬁf:o&@’éa’ns TG E)U“&aneﬁ“‘ Z{".Déﬁs’ésau D0808. X e
WPY) Sroo GELOWDEIM, Y oo o380 HF S’ eaman. S[FSnI8 S80S

T NTAY,

Options :

1 o XY

, s XY

_X&?

3 % 2

4 % XY

Question Number : 143 Question Id : 4928632703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the degree of association is 70% for the reaction 2A = (A), the van’t Hoff factor for

the solute ‘A’ 1s

2A=(A),,

DO &?
Options :

= 030

, % 0.70

- % 0.35

, v 0.65

=2

BOg8 OFEdE @8 70% wondond, Tago ‘A’ Tolrd

-

el

e B0
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Question Number : 144 Question Id : 4928632704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
0.1 mol of NaCl 1s dissolved in 100 g of water. The mole fraction of NaCl 1s

100 g © A8S* 0.1 IrSe NaCl S 80w, NaCl 3»S griiidon

Options :

| % 0.0213
. % 0.2290

Question Number : 145 Question Id : 4928632705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

What is the approximate standard free energy change per mole of Zn (in kJ mol) for a
Daniel cell at 298 K?

mn

298 K 58, BAcHS b o IS Zn S @ire 0o #8es’ Sy (kI mol o)

:

QAT D0E?
Options :
5
1 v —21

ﬂ
ﬁ

(S

230.0

3w 00

it =116

Question Number : 146 Question Id : 4928632706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Which of the following graphs represent a first order reaction
(a = mitial concentration of reactant. x = concentration of reactant consumed. 7 = time)

8od (TRoS* ) I8 Birol SEgd Hrdyow?
(a = |FSofBSrasso mEs, x = IARrHo BodoBBSr 2do mEs, t=5"00)

a) b) c) d)

log (a — x)

w
L %

b
Y

Options :

; » a,b.d

2 w C.d
3,ﬂ b.C

Question Number : 147 Question Id : 4928632707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s X X : :
In the Freundlich isotherm [— =k P% J plot of log; vs log p. the mtercept is (where x.
m

m. p and k are mass of the gas. mass of adsorbent. pressure and constant which depend on
the nature of the adsorbent. respectively)

X
FoR0HOA JIrL0P (— =k P% lﬂg; vs log p RS’ @odipodldn (x, m, p 50850
m |

k en 383m 3o (3855073, ©HTRED BB5078, wHSB0 Sobasn ©HFREY SrerdSn
SFIHE RTT0EIW)

Options :

1Lﬂk
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Question Number : 148 Question Id : 4928632708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Which of the following element 1s extracted using I, as the reactant?

L & BoSrassonr ¢HB3riod Bod F8S° 2 Sres ) dodradn BR?

Options :

1. ® Nl
> o 4
3,‘*1{[

. u QU

Question Number : 149 Question Id : 4928632709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The equatorial and axial P-C1 bond lengths (in pm) respectively i PCl; are

PClL; &° 855780508 $:805» 2§)00S P-Clwogdorges (pm o) Shdm

Options :
|« 202, 240

. 240, 202
.« 200, 400

200, 410
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Question Number : 150 Question Id : 4928632710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Inreaction (1). XeF hydrolysis to form HF and X. Inreaction (2). XeF ; on partial hydrolysis
formHF. Yand Z.

The products X. Y. Zrespectively. are

$8g (1) &, XeF, 20d3h00 Bod HF Hocin X oo d& s, g (2) & XeF,
©d0d wolddoo Bod HE. Y $0cin Z od 88w,
Bodraargen X, Y, Z e S8

Options :

XeO,. Xe. XeO,F,
1 % B

_— Xeoj. XeOF 4 XeOEF .

Xe. XeOF,. XeO,F,
3 % R

,  X€0,,0,, XeO,F,

Question Number : 151 Question Id : 4928632711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Ethylenediamine (en)

20OSBILS (en)
Options :
Monodendate ligand and can occupy one position in coordination polyhedron

Q8B08 Omol Hoboin FefRas Modeod® wl TR sE0NE 000

1. %

o
Bidendate ligand and can occupy two positions in coordination polyhedron

&o&od Omod Hodcin FedIde wodeod’ To T sECHLT L0

Polydendate ligand

3 & 2080 Omrod
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4 &

Tridendate ligand and occupy three positions in coordination polyhedron
G808 Orrod $08aiw FedIbs Hodeod” Hrd TFITOHN SEI0TE 0L

Question Number : 152 Question Id : 4928632712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Which one of the following is square planar in structure and has diamagnetic property?

808 T8ES* 28 dode IHYH Q072008 God Soireddn) o8 JomR) RWE8)RN0E?

Options :

, « NIGLO)
. INi(CO),]
. » IN(CN), -

e [NiCL]*

Question Number : 153 Question Id : 4928632713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Examples for natural polymers are

Qa2 FONIR GITdeen

Options :

Cotton. Silk. Bakelite and Wool

, TR, V8, BESE o8k &)

Cellulose. Polystyrene and Neoprene

L POSTE, OROS b QBT

Nylon. Terylene and PVC
Jere, 880 Hdaiw PVC

88 =
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Silk. Cotton and Proteins
4 v O, LS Hoboin @FEIes

Question Number : 154 Question Id : 4928632714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which one of the following statements 1s correct?

8B DSOS’ JOFIE 2&?
Options :
Starch on complete hydrolysis gives Fructose

FES Ff 2olFde BIST PEEINS
1 ®
Lactose on hydrolysis gives Glucose and Fructose
oEED BoJTi0 MIONS APF'E ook PEED Ry

Glucose on slow oxidation to CO, and H,O by enzyme does not liberate energy
KrE'E%H 0SS 3508 CO,, H,0 eom esdygsemo SdSH9h ¥§ Seodsd

Cellulose 1s not digestible in the human body

37088 §880&° ":oe.mge.‘i“'ﬁ 280 5780
4 ¢ 5

Question Number : 155 Question Id : 4928632715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The drug tetracycline 1s

BErp8s o3 oo
Options :
an antibiotic

| ¢ &8 0Iro8adrds
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an antimalarial
2.8 O5rot3B88a5S

an antiseptic
08 oSrol 28

an analgesic
5 .326%*?95

4 %

Question Number : 156 Question Id : 4928632716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is correct for optically active alkyl halides. upon reaction
with nucleophiles?

Gl (FHo ©8) S FThod Srgfdlrpde Sk 0200800 §08 JSTp0S” FBRSE
28?

Options :

| 8,2

Retention of configuration

| % ONTESE II g0

Inversion of configuration

QTGS 2e5° 00

5.1 Si2

Racemisation Inversion of configuration
2‘,3”@5356&90 QTR S H00

Bl 8.2

Inversion of configuration

Retention of configuration

CRT B AT°ZRO

- DTG Q500
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8.1 852
Racemisation Retention of configuration

BanE8mo ONT &Y 5)&‘“5550
4 ®

Question Number : 157 Question Id : 4928632717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which one of the following reactions gives phenol as a major product?

8od S8ged® HTSH PIrd G Hdm WHRIE 6?

Options :
Reaction of benzene with conc. HNO, and conc. H,SO,

Bo&ed” mg HNO,S8a50 g H,S0,u8g

l.ﬂ

Reaction of Aniline with NaNO,/HC11in warm water
’ va:&éﬁ@ NaNO,/HCl & 8e¢* 38 Bodn 5

Reaction of benzene with Hot water
Bo#SS® 38 dB w85

3 &

Sodium salt of benzoic acid with soda lime Reaction

. % BoF'onf sl FEN ©IN0E FEBn B

Question Number : 158 Question Id : 4928632718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The products “A™ and “B™ of the below reaction sequence are

§08 WEg BIENINS” edyTyen A, Bew

| i
H_CEC_CHZ_CHQ—C—CHs HgSO4

ok EtONa

diLH,SO, EOH 0
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A B

0 C
/W CH, &
CEy O CH,
1 ® O
A B
CHO
/\/\/ s 4
OHC O 3 II
NCH
> % 3
A B
0
M/ CH,
CH
; O CH
3 ¢ 3
A B
OH HO
M/Cﬂs "
CH
4 ® . O

Question Number : 159 Question Id : 4928632719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The strongest acid among the following 1s

808 THS* weod 6B

Options :
Acetic acid

L Q38 o
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Acrylic acid
e J@@E 300

Benzoic acid

ZoSon§ esNo
3.V ~

Propionic acid
, & TREPIE sBo

Question Number : 160 Question Id : 4928632720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The order of basicity among the following nitrogen compounds 1s

§od JW'aS IBWTre o oo

CH,NH,  NHCH, N(CH,),

=
2

2
= (O

Options :

o w dii>1>iv> i
L x di>i>iii> i

4 1Z>M>1>1V
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